
Time: 40 Minutes Paper G. Science 8th Total Marks: 25

2nd Month, 2nd Week, 6th Day Syllabus: Revision Test Syllabus (Week-2)

Q.No.1 Encircle the correct answer from the following choices. (1×10 = 10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. The cells which are produce as a result of cell division are called_____cells.

ûûûûBBBBDDDD÷÷÷÷XXXX _____ zzzz{{{{ûûûû����−−−−eeeezzzznnnn,,,,yyyyÆÆÆÆËËËË~~~~‘‘‘‘WWWW÷÷÷÷

(a) Primary 6,ZÎ~ (b) Daughter eZR, (c) Parent c.$ (d) Somatic Îz

ii. The types of cell division are: −−−−eeeezzzznnnn,,,,yyyyÅÅÅÅZZZZllllxxxx÷÷÷÷::::
(a) Two Šz (b) Three & (c) Four eg (d) Five 0*õ
iii. In____two sets of chromosomes are formed. ~~~~™™™™zzzzññññÎÎÎÎ''''××××ÆÆÆÆŠŠŠŠzzzzÃÃÃÃLLLL‘‘‘‘WWWW÷÷÷÷XXXX ______

(a) Meiosis òZz‹ (b) Mitosis âðI‹

(c) Cytokinesis ‚ç»ð&4lç E
GE (d) Prophase 6,z|

iv. During mitosis the nucleus of the______cell divides and both chromatids

of each chromosome separate.
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JJJJ„„„„ƒƒƒƒYYYY@@@@****ììììZZZZzzzzggggCCCCÙÙÙÙ™™™™zzzzññññÎÎÎÎxxxxÆÆÆÆ™™™™zzzzââââQQQQ++++iiiieeee{{{{ƒƒƒƒYYYYDDDD÷÷÷÷XXXX ____ ââââððððIIII‹‹‹‹ÆÆÆÆŠŠŠŠzzzzggggZZZZyyyy

(a) Parent c.$ (b) Daughter eZR, (c) Somatic Îz (d) Nerve 3,z
v. Number of cells produced at the end of mitosis is:

ââââððððIIII‹‹‹‹ÆÆÆÆWWWWyyyy~~~~aaaaZZZZƒƒƒƒääääzzzzZZZZááááûûûûÅÅÅÅ®®®®ZZZZŠŠŠŠìììì::::

(a) 2 (b) 3 (c) 4 (d) 5

vi. A process by which the nucleus of a cell divides twice to form four daughter

cells is called: ZZZZ((((¿¿¿¿TTTT~~~~ZZZZqqqq----−−−−»»»»EEEE®®®®ÒÒÒÒ55554444øøøø
GGGG
JJJJ

ŠŠŠŠzzzz%%%%ûûûû„„„„ƒƒƒƒ™™™™eeeeggggeeeeZZZZRRRR,,,,ûûûû¯̄̄̄ññññBBBB@@@@****ìììì::::

(a) Mitosis âðI‹ (b) Meiosis òZz‹

(c) Interphase ZÚ| (d) Nuclear division EÄezn,y

vii. ______division is similar to mitosis. eeeezzzznnnn,,,,yyyy»»»»¿¿¿¿ââââððððIIII‹‹‹‹ÅÅÅÅ§§§§bbbbììììXXXX _____

(a) Meiotic-I I- òZzS- (b) Meiotic-II II- òZzS-

(c) Meiotic-III III- òZzS- (d) Meiotic-IV IV- òZzS-

viii.The process of mitosis occurs in: ~~~~zzzz̧̧̧̧qqqq5555++++kkkk,,,,ƒƒƒƒ@@@@****ììììXXXX _____ ââââððððIIII‹‹‹‹»»»»¿¿¿¿

(a) Somatic cells Îzû (b) Epithelial cells û ]m¶oiãn×nØ

(c) General body cells ¾w!*e~û (d) Germline cells ̀xÑíû

ix. Only_____division take place in meiosis. eeeezzzznnnn,,,,yyyyƒƒƒƒCCCCììììXXXX ____ ââââððððIIII‹‹‹‹~~~~ÜÜÜÜssss

(a) 1 (b) 2 (c) 3 (d) 4

x. _______is the part of the cell which control all activites of the cell.

−−−−»»»»zzzz{{{{zzzzìììì����7777gggg}}}}−−−−ÆÆÆÆZZZZddddwwwwÃÃÃÃNNNNzzzzwwww™™™™@@@@****ììììXXXX _______

(a) Cell membrane −M+ (b) Cytoplasm ‚çöix
(c) Nucleus Ò×nò‹ E (d) Chromosomes ™zñÎ'×

Q.No.2. Write the short answers. (2 <<<< 6 = 12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i) How many number of cells are produced at the end of mitosis?

âðI‹ÆZ!x6,ûÅX®ZŠaZƒCì?

(ii) How many divisions of meiosis? òZz‹ÅXezn,4,÷?

(iii) What is the primary source of genetic variation? 74545ë EG
E
G
HpZ]»ãCŠ~fg=Hì?

(iv) Define interphase. ZÚ|Å°p™,X
(v) What is the structure of DNA? Å‚|#Hì? DNA

(vi) Where are chromosomes found? ™zñÎ'×¹V0*ñYD÷X

Q.No.3. Write long answer.                         (3) ----����ZZZZ[[[[KKKKXXXX

(i) Differentiate between mitosis and meiosis. ââââððððIIII‹‹‹‹ZZZZzzzzggggòòòòZZZZzzzz‹‹‹‹~~~~����ÛÛÛÛttttÒÒÒÒyyyy™™™™,,,,XXXX
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